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Subject : Political Science

|97 : 3uve | [ quif= : 80
Time : 3 hours ] [ Maximum Marks : 80
Fder : (i) W 9 g we afad §
Instructions : All questions are compulsory.
(i) T %A 1/ 20 % F TdH 9v4 W 1 375 Fuifig ¥ 39 #1 s1fuysan
Veg-HiH 20 ¥ # |
In Question Nos. 1 to 20, each question carries 1 mark. Maxipum
word-limit of answer is 20 words. t

(iii) W A 21 ] 23 T F TS Y4 R 2 37 Fvifa & 1 3w 5 arfusan
T-|1 30 W ¥ |
In Question Nos. 21 to 23, each question carries ?‘;narks. Maximum
word-limit of answer is 30 words.

(iv) W I 24 27 T F YA TH T 4 37 FAvifa ¥ 39 ) sfusa
yee-dm 75 W} g

In Question Nos. 24 to 27, each question carries 4 marks. Maximum
word-limit of answer is 75 words. ’
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(v) WA FAiH 28 W 31 W%mes % favifa & | 3w A sy
yrz-|m 150 I &, F98H U W9 T 7 a3 s 3
In Question Nos. 28 to 31, cach question carries § marks. Maximum
word-limit of answer is /50 words, in which one question is based on
Map and Picture.

(vi) W I 32 A 34 TF F WS W W 6 37 Fuiifea & (3o ) sy
weg- € 200 MK R |

In Question Nos. 32 to 34, cach question carries 6 marks. Maximum
word-limit of answer is 200 words.

(vii) W3 W% 28 W 34 7% Wl WAl | orfafte fasweq fau o #

Question Nos. 28 to 34 have internal options.

ferery 3w wv -1 [1x20=20)

Very short answer type questions-1

W T Efa R wEmn fe T g [1]
On which year was the NATO Pact signed?

WA-2 o § T frde 3w e e 2 [1]
At present, how many countries are there in the Non-Aligned
Movement?

ugafs CIS =1 qu 19 fafau | (1]
Write the full form of CIS.

ATHG G- Y& fava e ¥ 323 F1 ¥ www 912 [1]
What was the reason behind the emergence of the unipolar world?
WPE difed i ar am d (1]
What is Video Game War?

Wi AERN B w qrar et o ) (1]
When did Bangladesh receive recognition?

-7 w1965 H WA far 20 3 s fan a2 0]
Which country attacked India in 19657
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3]
o o arat Fa g8 2 N

When was the Agra Summit held?

qr €M3A (38R) °§ Fo fren wem ag §2 ("

How many member countries are there in SAARC Union?

wgF T §Y & UG Fa g3 2 N
When was the UNO established?

sieiea =ararera #e fam €2 (1]
Where is the International Court of Justice situated?

‘Fagan! I’ & Wada® HH 9 2 (1]

Who was the promoter of ‘Chipko Movement'?

T ¥ 9T Wia 3 o faaradl # den fea o ? (1]

What was the number of princely States in India during the Independence?

IIS A Y WA HA H T ? (1)
When was the Yojana Aayog established?

< ife 1w e A A R2 (1]

Green Revolution is related to which sector?

e WA e g7 (1]
When was the Tashkent Agreement signed?

Tt A ¢ o T, T T R Fmaed ¥ 2 (1]

In politics, what 1s meant by ‘Aya Ram, Gaya Ram’?

?ﬁnrﬁzﬂaﬁﬂ&;mmﬁwmﬁaﬂwaﬁ? _ (1

Who became the Prime Minister of India after the death of Indira Gandhi?”
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[4]
gyF- 19 041 YRt f&a siheE | S # 0 (

Whatrevolution is Medha Patkar related to?

W20 HEGR G a1y foFa oy 5§ 3 ) 0
Sardar Sarovar Dam is situated in which State?

Hfaerg Iwirg wy-11 [2x3=6]

Very short answer type questions-11

WH-21 YRG0 forae & & g 2 ferfan (2]
Write two main issues in the India-Nepal dispute.

WA-22 'yt gEer’ @ @ 2 fafau (2]
What is Earth Summit? Write.

UH-25 1970 % ¥ H $fen it w1 weehn e wni @ e g o 2]
For what reasons was the Indira Gandhi Government become
popular in 1970? https://www.cgboardonline.com

Y I 99 [4x4=16]

Short a~swer type questions

T2e T ST YRATS S ® §ge a9 ) qHeR 4]
“Popular Movements play an important role in strengthening the
Indian democracy.” Explain.

U 2S e s s<ied F faveand (Iyafarl) o s (w5 ) [+ ]+ 1=4]
Describe the specialities of Non-Ahgnment Movement (any four).

V26 Hifana v F fave F A IHE RN 1 Ieord HITA [T bl
Discuss the four main causes of the dissolution of the Soviet Union

e Et 27 e wmaty -i, P;T VT, 'ﬂ“Tj ;ﬁ' EENIRIED ‘ZTfT‘ﬂTIﬁ &l q—(ﬁﬁ ml I: 2 4;
I j,..' |Ih" !“" I""‘lll\ o .”“i l“" ”"‘!E'nl\ ¢ r':.\u“\ OI [I]L‘ iil’k‘k"'! RL‘\ iTiu“l"”
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5]
&rd Ivig ugm |5%4=20|
Long answer type questions
w¥3-28~ YA - 37AftE Fave & aie W g W Y Zifeu IR

Throw light on five main points of dispute between India and America.
HeaT
OR
e e & 4 st a<iva # e fagai § e Fifag
Explain in five points the absolute power enjoyed by America in the

structural economic sector.

WH29 ‘gEar’ 1 sfuym ¥ 2 qeend F afuwil ¥ fog dad w5
T (HTE F0) 1 | [1+4-5]

What is meant by ‘Native’? Describe the struggles for rights of the

native (any four).

OR

mma{dmlmﬁwﬁmﬂmwaﬂhm
(K &) |

Write the meaning of E(ﬁwronment. Describe the steps taken by India

for the protection of the environment (any four).

v
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[6]
g¥a-30 W%Wﬁﬁmﬁm%mﬁmm: (14141414 1-5)
(37) AT
(@) wforg
(8) g
(7) Tarferm

(%) @yl

In the map of India, mark the princely States as mentioned below :

=3

(@) Junagarh _,.?:

() Manipur %:

(¢) Mysore =
9]

(d) Gwalior “g-

(¢) Kashmir §-
=
g.
L]

OR ¢

=

m#qmﬁaﬁﬁﬂfaf@?lwﬁaﬁzm:

(37) TR

(%) +&

(7) g™

(D) faew

(3) dfram sma
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In the map of India, mark the following States -

(«) Gujarat

(hy Kerala
(¢)  Onssa
() Bihar

(¢) Woest Bengal
WA-317 FR T A wRe B A 1969 d 32 F foew gf 2 (5]
What were the reasons behind the division of Congress Party in 1969?

T
OR

1967 % 3 T F AR & vfad W e Fae

Describe the changes after the General Election of 1967.

afeded Iwrira v |6x3=18|
Very long answer type questions
W;ﬁ”'ﬁwwﬁuaﬁwmmhﬁmmhaﬁhm [14+1+14+1+1+1=6)

Describe any six achievements of the UNO.

Jear
R

meﬁwﬁ:‘ﬁmﬁﬂmm|

Describe any six failures of the UNO.
Ym-ene P.T.0.

https://www.cgboardonline.com

WO QUIUOPILOQ3I Mmm//:sdny



Wod dUIUOPIROqTI - Mmm//:sdyy

https://www.cgboardonline.com
8] '
vt a3 wa @) 2w A & B: faiesl w1 Seehg A [i+ivielvixi=e)
Desenibe six specialines of India’s Foreign Policy.
IaT
OR
M G T R8T ( sreeran) F ffa st & o w1 e
AT |
Describe six reasons for the adoption of Non-Alignment Policy by

India.

UPA-33  TIEUH WEHR F AN U e @ avi #ifae. [3+3=6]

[

Explain the advantages and disadvantages of a Coalition Government.

arear
OR

TEeYA TR ¥ A e aE farae T TeEyA w1 aeeta § A
zaii @t yfte 8 gfg F &= Fwel w1 quiF Hifa)

WO AUI[UOPILOQ3d Mmm//:sdny

Write the three major characteristics of a Coalition Government and

explain the three reasons for the rising importance of regional parties

in coalition politics.
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